Convert thefollowing fraction into its decimal equivalent: 3/8

3/8

Just divide to find the equal decimal.

3/8=0.375

Answer: 0.375 ?7?

the answer is 0.375. just divide

2. what is the 8th term of the sequence given by an=3n-5 a. -2
b. 19

c.24

d.29

3.write an explicit formulafor the sequence 2,8,14,20,26
a an=2n-2

b. an=2n+2

C. an=4n+2
d. an=6n-4

What is your understanding of tone in awork of fiction or nonfiction?
a)The tone of work of fiction or nonfiction is not influenced by sentence structure and word choice.

b)The tone of work of fiction or nonfiction isinfluenced by sentence and word choice.



¢) The tone of work of fiction or nonfiction is not influenced by sentence structure.

d)The one of work of fiction or nonfiction is not influenced by word choice.

Inflation rate in the usis an example of macroeconomics concept.

a True

b. False

a student scored 83 and 91 on her first two quizzes.Write and solve a compound inequality to find the possible values for athird quiz score that give her an
average between 85 and 90,inclusive

The perimeter of a square garden isto be at least 22 feet but not more than 36 feet. Find all possible values for the length of its sides.

which best describes conjugation in bacteria? A. Bacteriatransfer DNA with a bacteriophange B. Bacteriatake DNA from their environment. C. Bacteria switch
to the lysogenic cycle D. Bacteriainject DNA into another cell

Jermaine and Shikia are healthy parents of three young children. The oldest two, Bethany and Amber, are healthy, and they are six and four, respectively. Their
youngest child, Roscoe, was born with Peeling Skin Syndrome two years ago. Roscoe's skin constantly peels, and isred and itchy. If Jermaine and Shikia have
another child, the probability that he or she will inherit the skin conditionis A) 2/3. B) 1/8 C) 1/3. (0)14.

Megan is making bracelets to sell to earn money for the local animal shelter.it takes her 1/4 hour to pick out al the beads and 1/10 hour string them.this week,
she only has 5 1/4 hours to make bracelets.how many bracelets will Megan be able to make?

Which nursing action is most important when caring for a client using medications to manage disease in the hospital ?

An electric power plant uses energy from burning coal to generate steam at 4507C. The plant is cooled by 207C water from a nearby river. If burning coal
provides 100 MJ of heat, what is the theoretical minimum amount of heat that must be transferred to the river during the conversion of heat to electric energy?
A.100MJ. B. 90 MJ. C. 60 MJ. D. 40 MJ.

Find the area of a prism cube that has side lengths measuring 9 inches

What ones arerelatively prime? A) 11 & 121

B) 35& 125

C)39& 75

D) 34 & 49

12. Motor Works, Inc. has declared a $20,000 cash dividend to shareholders. The company has 5,000 shares of $15-par, 10% preferred stock and 10,000 shares
of $20-par common stock. The preferred stock is cumulative. How much will be distributed to the preferred and common stockholders on the date of payment if
the preferred stock is $8,000 in arrears

how did the idea of manifest destiny help Americans justify their desire to extend the united state of the pacific ocean?

What is the correct way to write 0.0000250 m in scientific notation?

A gas station owner properly filed a breach of a noncompete clause in an employment contract case in federal court against a former manager, who had begun
building a similar gas station across the street. The owner's complaint requested money damages and an injunction to stop the construction. The former manager
wants ajury trial, but the gas station owner prefers that the issue be litigated before the judge.

Can the former manager demand a jury trial for both claims?

a. Yes, because the Seventh Amendment gives both the plaintiff and the defendant the right to demand ajury tria in civil actions.

b.Y es, because the Seventh Amendment only gives the plaintiff the right to demand ajury trial in civil actions.



c. No, because the Seventh Amendment only gives plaintiffs the right to demand ajury trial in civil actions, and when a case presents both legal and equitable
claims, theright is only preserved for legal claims, not equitable claims.

d. No, because, while the Seventh Amendment gives both the plaintiff and defendant the right to demand ajury trial in civil actions when a case presents both
legal and equitable claims, the right is only preserved for all legal claims, not equitable claims.

Which best describes the Shona leadership? elected officials upper class rulers a council of eldersforeign rulers

I need help with economic detective trouble in westfed

1. Home
2. More Solution
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